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Review Sheet: Rational Expressions
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Divide.
10x — 25
1. g
3. (3x% - 6x) + 3x

11.

13.

15,

17.

19.

21.

23.

25,

27,

28.

. (—8x° + 16x% — 24x> + 32x%) + 8x?

(% - 14x + 49) + (x — 7)
(4x® — 16) + (2x + 4)

(x% + 10x + 16) + (x + 2)
(% + 5% + 10) + (x + 2)
’(3"x2—2x~13)+(x~2)
(5 — 23x + 12x%) + (4x — 1)
(2x%* + 11x — 5) + (x + 6)
(8x + 3 + 4x2) + (2x — 1)
WB+x—x-1)+@x-1)

(6x% — 35x + 36) + (3x — 4)

4x3 — 3
2'_x_x__x

(1082 — 6x) + 2x

(15x2 - 30x) + 5x
(2x2 ~ 13x +21) + (x - 3)

10. (% +dx — 12) + (x - 2)

12. (1242 - 5x — 2) + (3x — 2)
14, (32— 8c—9) + (x - 3)
(x3+3x2+5x+3)+(x+1)
18. (24 + 6x% + 25x) + (3x — 1)
20. (x2 + 5x — 10) + (x + 2)

22, Bx* + 11lx —4) + (3x — 1)

24, (10 + 21x + 10x3) + (2x + 3)

(—2x2—33x+x3—7) = (x=7)

The volume of a rectangular prism is 15x3 + 38x% — 23x — 6, The height
of the prism is 5x + 1, and the width of the prism is x -+ 3. Find the

length of the prism.

The width of a rectangle is x + 1, and the area is x4 2x%* — 5x — 6 cm,

What is the length of the rectangle?
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